
68 X – Maths

X (SA - 1)

Time Allowed : 3½ hours Maximum Marks : 80

1.

2. 34 A, B, C D 

A 10 1 B 8 

2 C 10 3 D 6 

4 

3. 1 10 

4. 1 2

3 3 2 4 

5.

6. 15

SECTION A

1 10

1. a = bq + r, a, b 
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(a) 0 < r < b (b) 0  r < b

(c) 0 < r  b (d) 0  r  b

2. 1 

px( )

x́ x

ý

y

1

(a) 1 (b) 2

(c) 3 (d) 4

3. 2 DE || BC x 

D E

A

B C

3 

2

4 
2 

x

(a) 3 (b) 2 

(c) 4 (d)
20
3  



70 X – Maths

4. sin ( + 36°) = cos ,   + 36°  

(a) 36° (b) 54°

(c) 27° (d) 90°

5. 3 cos  = 2 sin  
  

  

4 sin 3 cos
2 sin 6 cos  

(a)
1
8 (b)

1
3

(c)
1
2 (d)

1
4

6. 3 ABC, B 
4

tan
3

A AC = 15

BC

BA

C

3

(a) 4 (b) 3 

(c) 12 (d) 9 

7.
21
24  

(a) 1 (b) 2

(c) 3 (d) 4
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8. x – 2y = 5 2x – 4y = 10 

(a) (b)

(c) (d)

9.  
15

tan cot
7

A B A + B 

(a) (b) 90°

(c) < 90° (d) > 90°

10. 50 

(38.5, 34) 

(a) 38.5 (b) 34

(c) 50 (d) 4.5

SECTION B

11 18 2 

11. 7 × 11 × 12 + 11 

12. p(x) (2x – 5) (x + 2) 

13. 4 ABCD x y 

D C

BA

x  y–

x + y

16

22

4
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14. sin (A + B) = 1 cos (A – B) = 1, 0°  A + B  90°, A B 

 
7

cot
8

   

   

   

   

1 sin 1 sin
1 cos 1 cos

15. ABCD AB || DC 

:
AO CO
BO DO

16. 5 S = 90°, PQ = 10 QS = 6 RQ = 9 

P

SR Q

5

17. 50 

150-155 155-160 160-165 165-170 170-175 175-180

8 14 20 4 3 1

18.

30-40 40-50 50-60 60-70 70-80

4 3 8 11 8
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SECTION C

19 28 3 

19. 3q 3q + 1 

q 

20.
2 2

5

 5 3

21.

4500 

5400 

22.  ,  3x2 + 5x – 2 

2 2 

23.

 


 

cot cos cosec 1
:

cot cos cosec 1
A A A
A A A

24.     cos sin 2 sin     cos sin 2 cos

25. AD BC AB2 + CD2 = BD2 + AC2 
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D

B A

C

6

26.

27.

25-30 30-35 35-40 40-45 45-50

7 14 22 16 11

47 p 

0-20 20-30 40-60 60-80 80-100

8 15 20 p 5

28.

40-45 45-50 50-55 55-60 60-65 65-70

2 3 8 6 6 5

SECTION D

29 34 4 

29. 2x4 + 7x3 – 19x2 – 14x + 30 

2  2
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30.

31. cos8 – sin8 = (cos2 – sin2) (1 – 2 sin2 cos2) :

   

 

       

  


    

2 2

tan 90 cot sec 90 cosec

2 cot 27 sec 63
cot 26 cot 41 cot 45 cot 49 cot 64

32.   
 

cos sin
sin cos

1 tan 1 cot
A A

A A
A A

33. 4x – y = 4; 4x + y = 12

(a)

(b) x-

34. 100 

120-130 130-140 140-150 150-160 160-170 170-180

12 16 30 20 14 8
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1. b 2. a

3. d 4. c

5. b 6. c

7. c 8. a

9. b 10. a

11. 12.

13. x = 19, y = 3 
49
64 14. A = 45°, B = 45°

16. 17 18. 65

21. Rs. 3900, Rs. 150 40 10 

22. 3x2 + 10x – 8 27. 38.3  p = 12

28. 58.8 29.  
3

2, 2, 5,
2

33. x = 2, y = 4


